
ASSIGNMENT 

Q.1) Is it necessary to generate employment in the formal 

sector rather than in the informal sector? Why?  

 

Q.2) Why are regular salaried employees more in urban areas 

than in rural areas?  

 

Q.3) Do you think that in the last 60 years, employment 

generated in the country is commensurate with the growth of 

GDP in India?  

 

Q.4) Compared to urban women, more rural women are 

found working. Why?  

 

Q.5) Analyse the recent trends in sectoral distribution of 

workforce in India. 


